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Jor the questions

Answer either in English or in Assamese

1. Answer any ten of the following questions :
1x10=10

S 2pPRd R e web T fia

(a) Mention one feature of international
trade.

s afver b1 (IfB Srme 4

{b) What is international economics?
HPEeF SIS R 2

(c) What is meant by comparative cost
differences?

TIPS TR N1 e ¥ e w2
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(2) (3)

(d) Give one essential (.element- of (k) What is political argument for trade
Heckscher-Ohlin theory of international intervention?
trade. AR
. TR IATSS et 32
ER-ORFA SeEE A TR bl |
SRR SomE e ‘ () What is protection trade?
(e) What is meant by Leontief paradox? I3frs q1fteg R 2
frefoeq v A R @ I ? (m) Define flexible exchange rate.
() How does economies of scale affect ‘ *RTERe RiF 29 w158 fn
international trade? )
AT RofeR @A Ao e | (n) What is foreign exchange market?
ASRIAS FCA ? 7 e Rt sem &2
(g Who developed the technological gap ' o) State one main feature of European
model of international trade? Monetary System.
wesifoT MER AReRaR ¥R I e A T Ty B o1 P Soad 0
TR FRfE 2 ‘
. 2. ; ions in bri
(h) Define multinational enterprise. -‘2:;“’.“ the following questions in brief (any
, | : 2x5=10
@i Braer e s
© Tl PTRe o e fran (R e <o)
(i) Give one argument in favour of free ‘ _
trade. (a) Write two subject matters of
international economics
SR o GO IR fa | y
N SRS ST 151 Ry o |
() Mention one objective of trade
restriction. (b) What is meant by pattern of trade?
ey g™ b1 St BoEy F#91 | e @t T R o 7 2
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(c)

(d)

(e)

(9

M
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(4)

Distinguish between complete and
incomplete specialization.

oy w1 epreyf Refieto’ T =14 Ay
91| '

Mention two assumptions of Heckscher-
Ohlin theory of international trade.

(TR-W'FFR wREEee I SGOR Pl
wfeuRe TrE 91

What is international product cycle
theory?

R Tl v gl 75 7

Is there any relevance of the theory of
comparative cost advantage in a globally
integrated world? Give two arguments.

e R ofS o7 IR g HRywee
T SHOR APFRFS SITRe 7 101 IR |

What is financial globalization?
Ry i {2

Mention two causes for the downfall of
Bretton-Woods system.

GBA-TT5 TS A YOI IR Brwy 7 |

{ Continued )

(S)

3. Answer any four of the following questions :

5x4=20

o AR R @l vifiere Tex o

(a)

(b

{c)

(d)

(e)

22A/868

What are the reasons for international
trade? Explain.

HEHSS IMTE FRIEE &2 Irm F40 |

Explain the reasons which led to the
evolution of international economics as
a distinct branch of economics.

e @B =@ o Ry SRS
GYAIST FARIPR FEPTR TR A |

Discuss the validity of Ricardian
comparative costs theory in developing
countries,

TR o RIS’ WEEE W SEOR
FRFRS! SO F41 1

Explain the localization theory of
international trade in brief.

T AMEE TRFIT OGO SPF AN
w1

Distinguish between free trade and
protection.

Te M o Efre IPER TS Nl
a1
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({6)

() Explain the meaning of tariff. What are
the main types of tariffs?

TR Y AW T T AW AP
SRS

{g) Distinguish between tariff barriers and
non-tariff barriers.

% AT AT T-0% AT Eo
N g F1 1

(h) In what way is the equilibrium rate of
exchange determined wunder fixed
exchange rate system?

frr R Taee R seg R 2R
RffRe =

4. Answer any four of the following questions :

10x4=40

ware R 2P R e wifR e fian

{a} Explain clearly the
comparative costs
international trade.

Rert’s weEifer e gmmeR <@ ot
=o{3eF T 0|

(b) “Factor proportions and factor intensity
provide the basis for export
specialization.” Explain.

‘RN SIS WF TR e Iefe
Re@iear B8 1 g 1)

Ricardian
theory of

10

10

( Continued )

{c)

(d)

(e)

(g)
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(7)

Discuss the superiority of Heckscher-
Ohlin theory over the Ricardian theory
of international trade. State the limita-
tions of Heckscher-Ohlin theory. 5+5=10
fRerd’s uEEfts Ifw sgei @R-wkE
TEOR Cel S 91 GRS

TEOR Sremernz TEd 74 |

State and explain the technological gap
model of international trade. 10

EEfer R ayfelmr F oo SEw
3 S TG 4

Describe the main stages in the product
cycle model. 10

B BF TGLOR Tot TP I 70|

Analyze the effects of tariffs in a partial
equilibrium system. 10

S ST RS WS AO[ Remd 91

Explain clearly the concept of optimum
tariff. Establish the relationship
between elasticity of offer curve and
optimum tariff. 4+6=10
I WE YRACE S4BT [P ]| WIR
I fRfmeel o I WEE THS o

T A0
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(8)

(h) Compare the effectiveness of tariff and
quota as weapons of trade restrictions. 10

e Page wien e v% o R
R TR IR o 41 |

() How was equilibrium exchange rate
determined under gold standard? What
were the reasons for the collapse of the
gold standard? © 7+3=10

e s Qe R [/ @i

e tafde 7 TfTm IR TOR IRPAR B
w1 7

() Discuss the key reasons for the
international financial crisis. What are
the effects of the international financial
crisis? 6+4=10
TEe REW T T FRAPHZ WCeDN
1 | ST R T sz R R0
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